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Example1

pay.479 -
yo's' of a loan$5000of w/

_

loan interest raterateI 2.5%

compoundedmonthly. Yon must pay back the loan in byf

all at once.How much will you have to pay?

,

this isthe same type of problemas thoseinthe

previous days.The only thing
ï

new istheContext& jargon.
Prev. day:growthot all,

NLair0(Itp
In this context it is

' A (m)=P(airtime



I \ _I amount
p IPrincipal
i I interestrate

.

ME

/

months

A/m) = p (time
let's solve it:

1Y = 12 months

After {yrs
AI24)= 5000I It0.0125)

24

in_ 50001.0's's=a 9043.63o



How much more diï we pay ofter2yrs?
409

4043. is93

In percentage, relativeto theinitial loan, how much IN
{that?

40¢

4043.93 -
5000

100ï
\

= 81%



Example
(hot;fuite intobook)

: toinvest$10.000at 4%semi-annually
for3 yrs.How muchmoney doyou haveat end)end?

A(x) = p (Itit
In this caseit's compoundedevery 6 months,at a
rate

h

interestofi. =4% =0.04. En 'y's= 6noIf-years
HenleXG ' A16)=10.000 lIt0.04)

6
=-12633.9\

,o



How much do wehave after syr?tt/2)=/00001.04
2

=10o
HOW much more did we get after I yr?816

l

In percentage,l was was our gain?
8.16%816

- 10.000
. 100\

\
= =

N.

= 8.16


